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1. Sc (Z = 21) is a transition element but Zinc (z

= 30) is not because

A. both  and  ions are colourless

and form white compounds,

B. in case of Sc, 3d orbital are partially filled

but in Zn these are completely filled

C. ast electron as assumed to be added to

4s level in case of zinc

Sc3 + Zn2 +

https://dl.doubtnut.com/l/_wKItV86hkNiJ


D. both Sc and Zn do not exhibit variable

oxidation states

Answer: C

View Text Solution

2. Which of the following d block element has

half filled penultimate d sub shell as well as

half filled valence sub shell?

A. Cr

https://dl.doubtnut.com/l/_wKItV86hkNiJ
https://dl.doubtnut.com/l/_gVG09NFNXpph


B. Pd

C. Pt

D. none of these

Answer: A

View Text Solution

3. Which one of the following ions has the

same number of unpaired electrons as present

in ?V 3 +

https://dl.doubtnut.com/l/_gVG09NFNXpph
https://dl.doubtnut.com/l/_K404Cbp2pMjo


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

Ti3 +

Fe3 +

Cr2 +

Cr3 +

4. The magnetic moment of  ion is

A. 5.92BM

Mn2 +

https://dl.doubtnut.com/l/_K404Cbp2pMjo
https://dl.doubtnut.com/l/_YcN2uPYb7bJA


B. 2.80BM

C. 8.95BM

D. 3.90BM

Answer: A

View Text Solution

5. Which of the following compounds is

colourless?

A. Fe3 +

https://dl.doubtnut.com/l/_YcN2uPYb7bJA
https://dl.doubtnut.com/l/_dqb2FsmbYets


B. 

C. 

D. 

Answer: B

View Text Solution

Ti4 +

Co2 +

Ni2 +

6. The catalytic behaviour of transition metals

and their compounds is ascribed mainly due

to

https://dl.doubtnut.com/l/_dqb2FsmbYets
https://dl.doubtnut.com/l/_0exRURIvc8Wo


A. their magnetic behaviour

B. their unfilled d orbitals

C. their ability to adopt variable oxidation

states

D. their chemical reactivity

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_0exRURIvc8Wo


7. The correct order of increasing oxidizing

power in the series

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

VO+
2 < Cr2O

2 −
7 < MnO4

Cr2O
2 −
7 < VO+

2 < MnO4

Cr2O
2 −
7 < MnO4 < VO+

2

MnO4 < Cr2O
2 −
7 < VO+

2

https://dl.doubtnut.com/l/_FnV8c6lZy57W
https://dl.doubtnut.com/l/_hrva2fntP4WN


8. Which of the following does not give oxygen

on heating?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

K2Cr2O7

(NH4)2Cr2O7

KCIO3

Zn(CIO3)2

https://dl.doubtnut.com/l/_hrva2fntP4WN


9. In acid medium, potassium permanganate

oxidizes oxalic acid to

A. oxalate

B. Carbon dioxide

C. acetate

D. acetic acid

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_CvhHRjilwvhg
https://dl.doubtnut.com/l/_ReRFYw94TADR


10. Which of the following statements is not

true?

A. on passing  through acidified 

 solution, a milky colour is

observed.

B.  , is preferred over 

in volumetric analysis

C.  solution in acidic medium is

orange in colour

H2S

K2Cr2O7

Na2Cr2O7 K2Cr2O7

K2Cr2O7

https://dl.doubtnut.com/l/_ReRFYw94TADR


D.  solution becomes yellow on

increasing the pH beyond

Answer: B

View Text Solution

K2Cr2O7

11. Permanganate ion changes to……………. in

acidic medium.

A. 

B. 

MnO
2 −
4

Mn2 +

https://dl.doubtnut.com/l/_ReRFYw94TADR
https://dl.doubtnut.com/l/_9Hlovh1Ck3n4


C. 

D. 

Answer: B

View Text Solution

Mn3 +

MnO2

12. A white crystalline salt (A) react with dilute

HCl to liberate a suffocating gas (B) and also

forms a yellow precipitate. The gas (B) turns

potassium dichromate acidified with dil

https://dl.doubtnut.com/l/_9Hlovh1Ck3n4
https://dl.doubtnut.com/l/_iKn5DSLH2cwC


 to a green coloured solution (C). A, B

and C are respectively.........

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

H2SO4

Na2SO3, SO2Cr2(SO4)3

Na2S2O3, SO2Cr2(SO4)3

Na2S, SO2, SO2Cr2(SO4)3

Na2SO4, SO2, Cr2(SO4)3

https://dl.doubtnut.com/l/_iKn5DSLH2cwC


13.  react with Br in alkaline pH to give

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

MnO
−
4

BrO−
3 , MnO2

Br2, MnO
2 −
4

Br2, MnO2

BrO− , MnO
2 −
4

https://dl.doubtnut.com/l/_M3svUjLPithP


14. How many moles of , are liberated when I

mole of potassium dichromate react with

potassium iodide?

A. 1

B. 2

C. 3

D. 4

Answer: C

View Text Solution

I2

https://dl.doubtnut.com/l/_jWiZVStwavGA


15. The number of moles of acidified KMnO,

required to oxidize 1 mole of ferrous oxalate (

) is ....

A. 5

B. 3

C. 0.6

D. 1.5

Answer: C

View Text Solution

FeC2O2

https://dl.doubtnut.com/l/_PhRH5Xip8RnS


16. When a brown compound of Mn (A) ids

treated with HCI, it gives a gas (B). The gas (B)

taken in excess reacts with  to give an

explosive compound (C). The compound A, B

and Care ................

A. 

B. 

C. 

D. 

Answer: A

NH3

MnO2, Cl2, NCl3

MnO, Cl2, NH4CL

Mn3O4, Cl2, NCl3

MnO2, Cl2, NCl2

https://dl.doubtnut.com/l/_Cdj5Wxt4KdzB


View Text Solution

17. Which one of the following statements

related to lanthanons is incorrect?

A. Europium shows +2 oxidation state.

B. The basicity decreases as the ionic

radius decreases from Pr to Lu

C. ) All the lanthanons are much more

reactive than aluminium

https://dl.doubtnut.com/l/_Cdj5Wxt4KdzB
https://dl.doubtnut.com/l/_kY9wYdIsuWc5


D.  solutions are widely used as

oxidising agents in volumetric analysis.

Answer: C

View Text Solution

Ce4 +

18. Which of the following lanthanoid ions is

diamagnetic?

A. 

B. 

Eu2 +

Y b2 +

https://dl.doubtnut.com/l/_kY9wYdIsuWc5
https://dl.doubtnut.com/l/_QWuWBkinSLSz


C. 

D. 

Answer: B

View Text Solution

Y Ce2 +

Sm2 +

19. Which of the following oxidation states is

most common among the lanthanoids?

A. 4

B. 2

https://dl.doubtnut.com/l/_QWuWBkinSLSz
https://dl.doubtnut.com/l/_x7zAjs7V61Hu


C. 5

D. 3

Answer: D

View Text Solution

20. Assertion:  is used as an oxidizing

agent in volumetric analysis. 

Reason:  has the tendency of attaining

+3 oxidation state.

Ce4 +

Ce4 +

https://dl.doubtnut.com/l/_x7zAjs7V61Hu
https://dl.doubtnut.com/l/_FAKG8dDZ4c5o


A. Both assertion and reason are true and

reason is the correct explanation of

assertion.

B. Both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. Assertion is true but reason is false.

D. Both assertion and reason are false.

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_FAKG8dDZ4c5o


21. The most common oxidation state of

actinoids is

A. 2

B. 3

C. 4

D. 6

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_FAKG8dDZ4c5o
https://dl.doubtnut.com/l/_gaXexR7qiwJJ


22. The actinoid elements which show the

highest oxidation state of +7 are

A. Np, Pu Am

B. U, Fm, Th

C. U, Th, Md

D. Es, No, LT

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_woOrkVyJntxY
https://dl.doubtnut.com/l/_tL9q55ljZN9K


23. Which one of the following is not correct?

A.  is less basic than 

B. In lanthanoid series ionic radius of 

ions decreases

C. La is actually an element of transition

metal series rather than lanthanide

series

D. Atomic radii of Zr and Hf are same

because of lanthanide contraction

La(OH)2 Lu(OH)3

ln3 +

https://dl.doubtnut.com/l/_tL9q55ljZN9K


Answer: A

View Text Solution

24. What are transition metals? Give four

examples

View Text Solution

25. Explain the oxidation states of 3d series

elements.

https://dl.doubtnut.com/l/_tL9q55ljZN9K
https://dl.doubtnut.com/l/_R5qj9XQOxRZE
https://dl.doubtnut.com/l/_xexlzIaVZyBs


View Text Solution

26. What are inner transition elements?

View Text Solution

27. Justify the position of lanthanides and

actinides in the periodic table.

View Text Solution

28. What are actinoides? Give three examples.

https://dl.doubtnut.com/l/_xexlzIaVZyBs
https://dl.doubtnut.com/l/_ccgOlyR5xxO8
https://dl.doubtnut.com/l/_F3P2fJU5IWJy
https://dl.doubtnut.com/l/_FWytLW0bA8Su


View Text Solution

29. Why  is colourless?

View Text Solution

Gd3 +

30. Explain why compounds of  are

coloured but those of  are colourless.

View Text Solution

Cu2 +

Zn2 +

https://dl.doubtnut.com/l/_FWytLW0bA8Su
https://dl.doubtnut.com/l/_ArnuUrmEmoIC
https://dl.doubtnut.com/l/_tCocQISt75N7


31. Describe the preparation of potassium

dichromate.

View Text Solution

32. What is lanthanide contraction and what

are the effects of lanthanide contraction?

View Text Solution

https://dl.doubtnut.com/l/_AtnePdom29lk
https://dl.doubtnut.com/l/_Hmwg9jFHw3er


33. Complete the following 

a.  


b.  


c.  


d.  


e.  


f. 

View Text Solution

MnO
2 −
4 + H + → ?

C6H5CH3

acidified
−−−−→
KMnO4

?

MnO
−
4 + Fe2 + → ?

KMnO4

Δ
−−−−→
Red hot

?

Cr2O
2 −
7 + I − + H + → ?

Na2Cr2O7 + KCl → ?

34. What are interstitial compounds?

https://dl.doubtnut.com/l/_gogTlodj8ExX
https://dl.doubtnut.com/l/_M57rTTBRcl82


View Text Solution

35. Calculate the number of unpaired

electrons in  and calculate the

spin only magnetic moment.

View Text Solution

Ti3 + , Mn2 +

36. Write the electronic configuration of 

and ,

View Text Solution

Ce4 +

Co2 +

https://dl.doubtnut.com/l/_M57rTTBRcl82
https://dl.doubtnut.com/l/_jXJjuQvxUA2V
https://dl.doubtnut.com/l/_2DYpk11LlUuM


37. Explain briefly how +2 states becomes more

and more stable in the first half of the first

row transition elements with increasing

atomic number.

View Text Solution

38. Which is more stable?  or  -

explain.

View Text Solution

Fe3 + Fe2 +

https://dl.doubtnut.com/l/_VWSpmkZ4Ms4V
https://dl.doubtnut.com/l/_uRg1jI4kEoFr
https://dl.doubtnut.com/l/_i9NNDoRb213x


39. Explain the variation in 

series

View Text Solution

EM 2 + /M 3 + + 3d

40. Compare lanthanides and actinides.

View Text Solution

41. Explain why  is strongly reducing

while  is strongly oxidizing.

Cr2 +

Mn3 +

https://dl.doubtnut.com/l/_i9NNDoRb213x
https://dl.doubtnut.com/l/_ORCgYMmQMArS
https://dl.doubtnut.com/l/_wqDKXqekYD2s


View Text Solution

42. Compare the ionization enthalpies of first

series of the transition elements.

View Text Solution

43. Actinoid contraction is greater from

element to element than the lanthanoid

contraction, why?

View Text Solution

https://dl.doubtnut.com/l/_wqDKXqekYD2s
https://dl.doubtnut.com/l/_DPPBr33IEa4d
https://dl.doubtnut.com/l/_ehMZWppK0DxF


44. Out of  and  which is

more basic and why?

View Text Solution

Lu(OH)3 La(OH)3

45. Why europium (II) is more stable than

Cerium (II)?

View Text Solution

https://dl.doubtnut.com/l/_d0hGcz49RdRm
https://dl.doubtnut.com/l/_EG1dGsTPvpWC


46. Why do zirconium and Hafnium exhibit

similar properties?

View Text Solution

47. Which is stronger reducing agent  or 

?

View Text Solution

Cr2 +

Fe2 +

https://dl.doubtnut.com/l/_bBviPXXlABfg
https://dl.doubtnut.com/l/_P2lkP8uXVtq7


48. The  value for copper is positive.

Suggest a possible reason for this.

View Text Solution

E0
M 2 + /M

49. Predict which of the following will be

coloured in aqueous solution

,

and 

View Text Solution

Ti2 + , V 3 + , Se4 + , Cu+ , Sc3 + , Fe3 + , Ni2 +

Co3 +

https://dl.doubtnut.com/l/_UMzpxh6j0vpI
https://dl.doubtnut.com/l/_1m9DJtKT7zIi
https://dl.doubtnut.com/l/_PDNRLMInaHyj


50. Describe the variable oxidation state of 3d

series elements.

View Text Solution

51. Which metal in the 3d series exhibits +1

oxidation state most frequently and why?

View Text Solution

https://dl.doubtnut.com/l/_PDNRLMInaHyj
https://dl.doubtnut.com/l/_r8Z12kdRKJkv


Evaluate Yourself

52. Why first ionization enthalpy of chromium

is lower than that of zinc?

View Text Solution

53. Transition metals show high melting points

why?

View Text Solution

https://dl.doubtnut.com/l/_o0SxCkfiPhg9
https://dl.doubtnut.com/l/_Em2tY8DVxOIl
https://dl.doubtnut.com/l/_84oTE15djQdb


1. Compare the stability of  and 

from their ionisation enthalpy values. 

View Text Solution

Ni4 + Pr4 +

2. Why iron is more stable in +3 oxidation

state than in +2 and the reverse is true for

Manganese?

View Text Solution

https://dl.doubtnut.com/l/_84oTE15djQdb
https://dl.doubtnut.com/l/_nhIy2cNA5yFu


Additional Questions I Choose The Correct

Answer

1. The elements whose atom has incomplete d

sub-shell are called

A. s-block element

B. Alkali metals

C. transition elements

D. Representative elements

https://dl.doubtnut.com/l/_nhIy2cNA5yFu
https://dl.doubtnut.com/l/_Jkn1zhFCgoxD


Answer:

View Text Solution

2. Which one of the following is the other

name of d-block elements?

A. Chalcogens

B. Halogens

C. Inner-transition elements

D. Transition elements

https://dl.doubtnut.com/l/_Jkn1zhFCgoxD
https://dl.doubtnut.com/l/_Hk0mlyA1no18


Answer:

View Text Solution

3. Which metals play an important role in the

development of human civilization?

A. Al and Mg

B. Na and K

C. Fe and Cu

D. Mn and Ni

https://dl.doubtnut.com/l/_Hk0mlyA1no18
https://dl.doubtnut.com/l/_p19Jpb1golMm


Answer:

View Text Solution

4. Which metal is used in manufacturing

artificial joints?

A. Molybdenum

B. Titanium

C. Tungsten

D. Iron

https://dl.doubtnut.com/l/_p19Jpb1golMm
https://dl.doubtnut.com/l/_Mrh7lSUdD0Ui


Answer:

View Text Solution

5. Which transition metal is applied in the

manufacturing of boiler plants?

A. Iron

B. Copper

C. Aluminium

D. Molybdenum

https://dl.doubtnut.com/l/_Mrh7lSUdD0Ui
https://dl.doubtnut.com/l/_9BgiIY59HhGh


Answer:

View Text Solution

6. The metal cobalt is present in ............

A. Vitamin-A

B. Vitamin-

C. Vitamin-

D. Vitamin-

Answer:

B1

B12

B6

https://dl.doubtnut.com/l/_9BgiIY59HhGh
https://dl.doubtnut.com/l/_ssQO4VWawTL5


View Text Solution

7. Consider the following statements 

(i) Transition metals occupy group-3 to group-

12 of the modern periodic table 

(ii) Representative elements occupy group-3 to

group-12 of the modern periodic table. 

(iii)Except group-11 elements of all transition

metals are hard. 

(iv) d-block elements are mostly non-metals. 

Which of the above statements is/ are

incorrect?

https://dl.doubtnut.com/l/_ssQO4VWawTL5
https://dl.doubtnut.com/l/_RE1HCAgRJeY0


A. ii and iv

B. i and iii

C. iii only

D. i only

Answer:

View Text Solution

8. Consider the following statements. 

(i) d-block elements composed of 3d series, Sc

to Zn (4th period). 

https://dl.doubtnut.com/l/_RE1HCAgRJeY0
https://dl.doubtnut.com/l/_2d05SMxNkrIO


(ii) 4d series composed of Y to Cd. 

(iii) 5d series composed of La, Hf to Mercury. 

(iv) d-block elements composed of 4d series Y

to Cd. 

Which of the above statements is/ are

incorrect.

A. i and iv

B. i, ii and ii

C. iii and iv

D. iv only

Answer:

https://dl.doubtnut.com/l/_2d05SMxNkrIO


View Text Solution

9. Which of the following is the correct

electronic configuration of Sc (Z = 21)?

A. 

B. 

C. 

D. 

Answer:

[Ar]3d3

[Ar]3d14s2

[Ar]3d24s1

[Ar]4s24p1

https://dl.doubtnut.com/l/_2d05SMxNkrIO
https://dl.doubtnut.com/l/_1whp21BLwmMM


View Text Solution

10. The correct electronic configuration of Cr

is……………

A. 

B. 

C. 

D. 

Answer:

View Text Solution

[Ar]3d44s2

[Ar]3d5

[Ar]3d54s1

[Ar]3d6

https://dl.doubtnut.com/l/_1whp21BLwmMM
https://dl.doubtnut.com/l/_3KwbACaMKKcG


11. Which of the following is the correct

electronic configuration of copper?

A. 

B. 

C. 

D. 

Answer:

View Text Solution

[Ar]3d54s1

[Ar]3d104s1

[Ar]3d94s2

[Ar]3d84s24p1

https://dl.doubtnut.com/l/_3KwbACaMKKcG
https://dl.doubtnut.com/l/_mez21KS9ExrK


12. Which one of the following is the general

electronic configuration of transition

elements?

A. 

B. 

C. 

D. 

[Noble gas]ns2np6

[Noble gas](n − 2)f 1 − 14(n − 1)d1 − 10ns2

[Noble gas](n − 1)d1 − 10(n − 1)f 1 − 14ns2

[Noble gas](n − 1)d1 − 10ns2

https://dl.doubtnut.com/l/_JJ2gIWyPqIXt


Answer:

View Text Solution

13. Which one of the following transition

element has maximum oxidation states?

A. Manganese

B. Copper

C. Scandium

D. Titanium

https://dl.doubtnut.com/l/_JJ2gIWyPqIXt
https://dl.doubtnut.com/l/_GbyZFcMNbfuJ


Answer:

View Text Solution

14. Consider the following statements. 

(i) In 3d series, the middle element Mn has +2

to +7 oxidation states. 

(ii) The oxidation state of Ru and Os is +8. 

(iii) Scandium has six different oxidation

states. 

Which of the above statements is/ are not

correct?

https://dl.doubtnut.com/l/_GbyZFcMNbfuJ
https://dl.doubtnut.com/l/_Gvqa1A2TmcZJ


A. i and ii

B. ii only

C. i only

D. iii only

Answer:

View Text Solution

15. Which one of the following elements show

high positive electrode potential?

https://dl.doubtnut.com/l/_Gvqa1A2TmcZJ
https://dl.doubtnut.com/l/_DDnLJU718nd5


A. 

B. 

C. 

D. 

Answer:

View Text Solution

Ti2 +

Mn2 +

Co2 +

Cr2 +

16. Which one of the following is diamagnetic

in nature?

https://dl.doubtnut.com/l/_DDnLJU718nd5
https://dl.doubtnut.com/l/_1xaeV7P2G5Ci


A. 

B. 

C. 

D. 

Answer:

View Text Solution

Ti3 +

Cu2 +

Zn2 +

V 3 +

17. Which one of the following is paramagnetic

in nature?

https://dl.doubtnut.com/l/_1xaeV7P2G5Ci
https://dl.doubtnut.com/l/_Z8UbQB9JQ1WR


A. 

B. 

C. 

D. 

Answer:

View Text Solution

Sc3 +

Ti4 +

V 5 +

Cu2 +

18. Which of the following pair has maximum

number of unpaired electrons?

https://dl.doubtnut.com/l/_Z8UbQB9JQ1WR
https://dl.doubtnut.com/l/_MDnaWN8qO4xZ


A. 

B. 

C. 

D. 

Answer:

View Text Solution

Mn2 + , Fe3 +

Co3 + , Fe2 +

Cr3 + , Mn4 +

Ti2 + , V 3 +

19. Which of the following pair has 

electrons?

d10

https://dl.doubtnut.com/l/_MDnaWN8qO4xZ
https://dl.doubtnut.com/l/_A4KwwB8OhYCO


A. 

B. 

C. 

D. 

Answer:

View Text Solution

Ti3 + , V 4 +

Co3 + , Fe2 +

Cu+ , Zn2 +

Mn2 + , Fe3 +

20. Which of the following is used as a catalyst

in the manufacture of sulphuric acid form SO3

https://dl.doubtnut.com/l/_A4KwwB8OhYCO
https://dl.doubtnut.com/l/_CmlnBBrQPdW1


A. 

B. Rh-Ir

C. Ni

D. Fe

Answer:

View Text Solution

V2O5

21. Which one of the following is Zeigler-Natta

catalyst?

https://dl.doubtnut.com/l/_CmlnBBrQPdW1
https://dl.doubtnut.com/l/_rDFUrpXH5CRo


A. 

B. 

C. 

D. 

Answer:

View Text Solution

Co2(CO)8

Rh/Ir complex

TiCl4 + Al(C2H5)3

Fe/Mo

22. Which one of the following is used as a

catalyst in the polymerisation of propylene?

https://dl.doubtnut.com/l/_rDFUrpXH5CRo
https://dl.doubtnut.com/l/_dLgMf9rPF7pk


A. 

B. Pt

C. 

D. 

Answer:

View Text Solution

V2O5

TiCl4 + Al(C2H5)3

Fe/Mo

23. Consider the following statements. 

(i) Transition metal hydrides are used as

powerful oxidising agents. 

https://dl.doubtnut.com/l/_dLgMf9rPF7pk
https://dl.doubtnut.com/l/_LlZ6ywEnhyuF


(ii) Metallic carbides are chemically active. 

(iii) Interstitial compounds are hard and show

electrical and thermal conductivity. 

Which of the above statements is/ are

incorrect?

A. i and ii

B. ii and iii

C. iii only

D. i only

Answer:

https://dl.doubtnut.com/l/_LlZ6ywEnhyuF


View Text Solution

24. Which one of the following oxide is

covalent?

A. 

B. CrO

C. 

D. 

Answer:

View Text Solution

Cr2O3

Mn2O7

Na2O

https://dl.doubtnut.com/l/_LlZ6ywEnhyuF
https://dl.doubtnut.com/l/_4BiZdngabsmA


25. Which one of the following oxide is

amphoteric in nature?

A. CrO

B. 

C. 

D. MnO

Answer:

View Text Solution

Cr2O3

Mn2O7

https://dl.doubtnut.com/l/_4BiZdngabsmA
https://dl.doubtnut.com/l/_vzPzGowjcofG


26. Which one of the following is used to

identify chloride ion in inorganic qualitative

analysis?

A. Barium chloride test

B. Chromyl chloride test

C. Brown ring test

D. Ammonium molybdate test

Answer:

View Text Solution

https://dl.doubtnut.com/l/_GaqHrwcfRiTD


27. Which one of the following is the formula

of chromyl chloride?

A. 

B. 

C. 

D. 

Answer:

View Text Solution

CrOCl2

CrCl3

CrO2Cl2

CrCl2

https://dl.doubtnut.com/l/_LDhMF37YKchP
https://dl.doubtnut.com/l/_SSK60a8HNZfL


28. Which ore is used to prepare potassium

permanganate?

A. Pyrolusite

B. Chromite

C. Argentite

D. Cuprite

Answer:

View Text Solution

https://dl.doubtnut.com/l/_SSK60a8HNZfL


29. Which one of the following geometry is

possesed by permanganate ion?

A. Pyramidal

B. Tetrahedral

C. Octahedral

D. linear

Answer:

View Text Solution

https://dl.doubtnut.com/l/_f1EHYlpCpCky
https://dl.doubtnut.com/l/_p3SHfxmQdFwJ


30. The hybridisation state of  is

permanganate ion is……

A.  hybridisation

B.  hybridisation

C.  hybridisation

D.  hybridisation

Answer:

View Text Solution

Mn7 +

sp2

dsp2

d2sp3

sp3

https://dl.doubtnut.com/l/_p3SHfxmQdFwJ


31. Which one of the following is known as

Baeyer's reagent?

A. Cold dilute alkaline 

B. Chromyl Chloride

C. Acidified potassium dichromate

D. Acidified potassium manganate

Answer:

View Text Solution

KMnO4

https://dl.doubtnut.com/l/_6f8AIwbWlUeS
https://dl.doubtnut.com/l/_RNOCa2Jsgg8o


32. Which reagent is used in the conversion of

ethylene into ethylene glycol?

A. Chromyl chloride

B. Zeigler-Natta catalyst

C. Cold dilute alkaline 

D. Acidified 

Answer:

View Text Solution

KMnO4

K2Cr2O7

https://dl.doubtnut.com/l/_RNOCa2Jsgg8o


33. Baeyer's reagent is used to detect…………..

unsaturation in an organic compound.

A. Chloride ion

B. unsaturated organic compound

C. Sulphate ion

D. Chromate ion

Answer:

View Text Solution

https://dl.doubtnut.com/l/_UCOsCgUCTB10
https://dl.doubtnut.com/l/_qCwQsqgFX3Z3


34. Which one of the following is used for the

estimation of ferrous salts, oxalates, hydrogen

peroxide and iodides?

A. 

B. 

C. 

D. 

Answer:

View Text Solution

K2MnO4

KMnO4

K2Cr2O7

CrO2Cl2

https://dl.doubtnut.com/l/_qCwQsqgFX3Z3
https://dl.doubtnut.com/l/_NWkD4i7FzwIY


35. Which of the following is the general

electronic configuration of lanthanoids?

A. 

B. 

C. 

D. 

Answer:

View Text Solution

[Xe]4f 73d1 − 105s2

[Xe]4f 1 − 143d106s2

[Xe]5f 2 − 144d106s2

[Xe]4f 2 − 144d0 − 16s2

https://dl.doubtnut.com/l/_NWkD4i7FzwIY


36. The exepted electron configuration of La

(Z= 57) is …..

A. 

B. 

C. 

D. 

Answer:

View Text Solution

[Xe]4f 15d06s2

[Xe]4f 05d16s2

[Xe]4f 3

[Xe]4f 05d3

https://dl.doubtnut.com/l/_kztXjYbk69rv
https://dl.doubtnut.com/l/_Xa1dseStW7W2


37. The actual electron confuguration of

La(Z=57) is ….

A. 

B. 

C. 

D. 

Answer:

View Text Solution

[Xe]4f 15d06s2

[Xe]4f 3

[Xe]4f 05d16s2

[Xe]4f 05d3

https://dl.doubtnut.com/l/_Xa1dseStW7W2


38. Which one and of the following

lanthanoids have completely filled Lu 4f

orbital?

A. Gd and Eu

B. La and Ce

C. Yb and Lu

D. Pr and Pm

Answer:

View Text Solution

https://dl.doubtnut.com/l/_RYeOIrOrJ4E1


39. Which one of the following is main cause

of lanthanoid contraction?

A. Poor shielding effect of 5f sub shell

B. more shielding effect of 4f sub shell

C. Poor shielding effect of 4f sub shell

D. more shielding effect of 4f sub shell

Answer:

View Text Solution

https://dl.doubtnut.com/l/_k092wxAVW5Vt
https://dl.doubtnut.com/l/_eSXlV73LpMfW


40. Which of the following pair has more or

less same atomic radius due to lanthanide

contraction?

A. Ti and V

B. Fm and Md

C. No and Lr

D. Zr and Hf

Answer:

View Text Solution

https://dl.doubtnut.com/l/_eSXlV73LpMfW
https://dl.doubtnut.com/l/_cO0fT6DBVcka


41. Consider the following statement. 

(i) All the actinoids are non radioactive. 

(ii) Neptunium and other heavier elements are

produced. by artificial transformation of

nature rally occurring elements by nuclear

reactions 

(iii) Most of the actinoids have long half lives. 

Which of the above statements is/ are not

correct.

A. i only

B. i and ii

https://dl.doubtnut.com/l/_cO0fT6DBVcka


C. ii and iii

D. i and iii

Answer:

View Text Solution

42. The general valence shell electronic

configuration of actinoids is

A. 

B. 

[Xe]4f 2 − 145d0 − 26s2

[Rn]4f 2 − 145d0 − 26s2

https://dl.doubtnut.com/l/_cO0fT6DBVcka
https://dl.doubtnut.com/l/_fOW6ryF6Qt2h


C. 

D. 

Answer:

View Text Solution

[Rn]4f 2 − 145d0 − 27s2

[Rn]4f 0 − 75d0 − 16s2

43. Which pair of actinoids show +2 oxidation

state?

A. Am and Th

B. Pa and U

https://dl.doubtnut.com/l/_fOW6ryF6Qt2h
https://dl.doubtnut.com/l/_S8YFRzAAE5YY


C. Pu and Cm

D. No and Lr

Answer:

View Text Solution

44. Consider the following statement. 

(i) Most of the actinoids are coloured. 

(ii) Actinoids show greater tendency to form

complexes. 

https://dl.doubtnut.com/l/_S8YFRzAAE5YY
https://dl.doubtnut.com/l/_4J95rBdbZQlw


(iii) Most of the actinoids are non-radioactive. 

Which of the above statements is/ are correct.

A. i only

B. i and iii

C. i and ii

D. ii and iii

Answer:

View Text Solution

https://dl.doubtnut.com/l/_4J95rBdbZQlw


45. Consider the following statement. 

(i) Lanthanoids do not form oxo cations. 

(ii) Most of the lanthanoids are colourless. 

(iii) Binding energy of 4f orbitals are lower 

Which of the above statement is/ are not

correct.

A. i and ii

B. iii only

C. i and iii

D. i, ii and iii

https://dl.doubtnut.com/l/_JonLKhxRIoF8


Answer:

View Text Solution

46. Which one of the following is more basic in

nature?

A. 

B. 

C. 

D. 

La(OH)3

Ce(OH)3

Gd(OH)3

Lu(OH)3

https://dl.doubtnut.com/l/_JonLKhxRIoF8
https://dl.doubtnut.com/l/_EqA5HhSB9Oz9


Answer:

View Text Solution

47. Which one of the following is less basic in

nature?

A. 

B. 

C. 

D. 

La(OH)3

Gd(OH)3

Lu(OH)3

Ce(OH)3

https://dl.doubtnut.com/l/_EqA5HhSB9Oz9
https://dl.doubtnut.com/l/_tCNJfI0NsjWA


Additional Questions Ii Fill In The Blanks

Answer:

View Text Solution

1. Transition elements occupy the central

position of the periodic table between…………..

elements.

View Text Solution

https://dl.doubtnut.com/l/_tCNJfI0NsjWA
https://dl.doubtnut.com/l/_zfnVcRBVNBtM
https://dl.doubtnut.com/l/_HblXTGj6OTYQ


2. Except ............ elements, all transition metals

are hard and have very high melting point

View Text Solution

3. ........... metal is used in manufacture of

artificial joints

View Text Solution

4. The extra stability of Cr and Cu is due to

.............. of electrons and exchange energy.

https://dl.doubtnut.com/l/_HblXTGj6OTYQ
https://dl.doubtnut.com/l/_frD2uwMw8uTb
https://dl.doubtnut.com/l/_B0OyYyVTMpBN


View Text Solution

5. The maximum melting point at about the

middle of transition metal series indicates

that .......... configuration is favourable for

strong .... ...... attraction.

View Text Solution

6. The atomic radius of 5d elements and 4d

elements are nearly same due to…..

https://dl.doubtnut.com/l/_B0OyYyVTMpBN
https://dl.doubtnut.com/l/_nJzzCQAvX4x9
https://dl.doubtnut.com/l/_Mrqqnx9dasKy


View Text Solution

7. Ni (II) compounds are

thermodynamically…………. than Pt (II)

compounds.

View Text Solution

8. The first transition metal exhibits only +3

oxidation state

View Text Solution

https://dl.doubtnut.com/l/_Mrqqnx9dasKy
https://dl.doubtnut.com/l/_g11iOeads1tO
https://dl.doubtnut.com/l/_vhE7Ao1eVwIP


9. The middle transition element ..... has six

different oxidation states.

View Text Solution

10. The substance which is oxidised is a…………

agent and the one which is reduced is an ...........

agent.

View Text Solution

https://dl.doubtnut.com/l/_i6Y0kRRzDflR
https://dl.doubtnut.com/l/_UAz9rEu51IGw


11. The oxidising and reducing power of an

element is measured in terms of ……

View Text Solution

12. If the  of a metal is large and negative,

the metal is a ………..

View Text Solution

E0

https://dl.doubtnut.com/l/_7kvxDIdSIHGt
https://dl.doubtnut.com/l/_3hXIADGWMgqu


13. The species with all paired electrons exhibit

……

View Text Solution

14. The magnetic moment of an ion is given by

…..

View Text Solution

https://dl.doubtnut.com/l/_IoGD8fx9CEsP
https://dl.doubtnut.com/l/_6B02YCyqoU4e


15. Many industrial processes use……… or their

…... as catalyst.

View Text Solution

16. In the preparation of acetic acid from

acetaldehyde the catalyst used in ……

View Text Solution

https://dl.doubtnut.com/l/_k1Ot0cd3AQ6K
https://dl.doubtnut.com/l/_SaVHOKIQO8zv


17. The catalyst used in the hydroformylation

of olefins is …..

View Text Solution

18. ........ catalyst is used in polymerization of

propylene.

View Text Solution

19.  is......... and CrO is in natureCr2O3

https://dl.doubtnut.com/l/_2N2NRxdlBe37
https://dl.doubtnut.com/l/_CCqFpvV1aAzs
https://dl.doubtnut.com/l/_9FPCkESuhkBL


View Text Solution

20.  dissolves in water to give ....

View Text Solution

Mn2O7

21. On heating potassium dichromate, it

decomposes to give …..… and molecular

oxygen.

View Text Solution

https://dl.doubtnut.com/l/_9FPCkESuhkBL
https://dl.doubtnut.com/l/_iyYwHn7BB3qO
https://dl.doubtnut.com/l/_SbUSjv8VlMop
https://dl.doubtnut.com/l/_pAzuZQbFf3nA


22. Potassium dichromate is a powerful ……….

agent in acidic medium.

View Text Solution

23. …….. is used in leather tanneries for chrome

tanning.

View Text Solution

https://dl.doubtnut.com/l/_pAzuZQbFf3nA
https://dl.doubtnut.com/l/_VwCWJiB4gon3


24. Potassium dichromate is used in

quantitative analysis for the estimation of ……..

And ……….

View Text Solution

25. Permanganate ion has ………. geometry in

which  is …….. hybridised

View Text Solution

Mn7 +

https://dl.doubtnut.com/l/_IL8fMcE36Lu9
https://dl.doubtnut.com/l/_Q3tJgmwa5h5H


26. Cold dilute alkaline  is known as

………

View Text Solution

KMnO4

27. ........ is used for the treatment of skin

infections and fungal infections of the foot.

View Text Solution

https://dl.doubtnut.com/l/_asCRjrAkdSPQ
https://dl.doubtnut.com/l/_sfmIIPpmWsY5


28. Baeyer's reagent is used for detecting .........

in an organic compounds.

View Text Solution

29. Due to the decrease in the size of 

ions, the ionic character of Ln-OH bond

decreases which results in the .....

View Text Solution

ln3 +

https://dl.doubtnut.com/l/_jDw5jeSFqJzO
https://dl.doubtnut.com/l/_sB6gi5kbkcf9


Additional Questions Iii Match The Following

Using The Code Given Below

30. All the actinoids are ................ and most of

them have .......... half lives.

View Text Solution

31. ................. do not form oxo cations.

View Text Solution

https://dl.doubtnut.com/l/_25mDyVvg796S
https://dl.doubtnut.com/l/_cWK8LswGL8ue
https://dl.doubtnut.com/l/_f7vhnPpawzBX


1. Match the following using the code given

below 

View Text Solution

2. Match the following using the code given

below 

https://dl.doubtnut.com/l/_f7vhnPpawzBX
https://dl.doubtnut.com/l/_nm12mN6sEBaC


View Text Solution

3. Match the following using the code given

below 

https://dl.doubtnut.com/l/_nm12mN6sEBaC
https://dl.doubtnut.com/l/_hZxbUD9nEobI


View Text Solution

4. Match the following using the code given

below 

https://dl.doubtnut.com/l/_hZxbUD9nEobI
https://dl.doubtnut.com/l/_8m8rP8jhtVAm


View Text Solution

5. Match the following using the code given

below 

https://dl.doubtnut.com/l/_8m8rP8jhtVAm
https://dl.doubtnut.com/l/_14Iteu87sEzG


Additional Questions Iv Assertion And Reason

View Text Solution

https://dl.doubtnut.com/l/_14Iteu87sEzG


1. Assertion (A): Cr and Cu having 

and  are more stable. 


Reason (R): The extra stability of elements Cr

and Cu is due to symmetrical distribution of

electrons and exchange energy.

A. Both (A) and (R) are correct and (R)

explains (A)

B. Both (A) and (R) are correct but (R) is not

the correct explanation of (A).

C. (A) is correct but (R) is wrong

[Ar]3d54s1

[Ar]3d104s1

https://dl.doubtnut.com/l/_O4rNZVFZCyG9


D. (A) is wrong but (R) is correct.

Answer:

View Text Solution

2. Assertion (A): In 3d transition elements, the

expected decrease in atomic radius is

observed from Sc to V, thereafter upto Cu, the

atomic radius nearly remains the same. 

Reason (R): As we move from Sc to V, the

added 3d electrons only partially shield the

https://dl.doubtnut.com/l/_O4rNZVFZCyG9
https://dl.doubtnut.com/l/_H6slFmLQFh4h


increased nuclear charge but upto Cu, the

extra electron added to 3d sub-shell repel the

4s electrons and the slight increase in nuclear

charge operated in opposite direction and it

leads to constancy in atomic radii.

A. Both (A) and (R) are correct and (R)

explains (A).

B. Both (A) and (R) are correct but (R) is not

the correct explanation of (A).

C. (A) is correct but (R) is wrong.

D. (A) is wrong but (R) is correct.

https://dl.doubtnut.com/l/_H6slFmLQFh4h


Answer:

View Text Solution

3. Assertion (A): In transition metal series, the

ionization enthalpy increases. 

Reason (R): This is due to increase in nuclear

charge corresponding to the filling of d

electrons.

A. Both (A) and (R) are correct and (R)

explains (A).

https://dl.doubtnut.com/l/_H6slFmLQFh4h
https://dl.doubtnut.com/l/_DCnyHIYVllHL


B. Both (A) and (R) are correct but (R) is not

the correct explanation of (A),

C. A) is correct but (R) is wrong.

D. (A) is wrong but (R) is correct.

Answer:

View Text Solution

4. Assertion (A): Ni (II) compounds are

thermodynamically more stable than Pt (II)

compounds. 

https://dl.doubtnut.com/l/_DCnyHIYVllHL
https://dl.doubtnut.com/l/_TAr31frGAP9G


Reason (R): The energy required to form 

is less than that of .

A. Both (A) and (R) are correct and (R)

explains (A).

B. Both (A) and (R) are correct but (R) is not

the correct explanation of (A).

C. (A) is correct but (R) is wrong.

D. (A) is wrong but (R) is correct.

Answer:

View Text Solution

Ni2 +

Pt2 +

https://dl.doubtnut.com/l/_TAr31frGAP9G


5. Assertion (A): Except Scandium all 3d series,

transition elements exhibit variable oxidation

states, 

Reason (R): By loosing electrons from (n-1)d

orbital and ns orbital as the energy difference

between them is very small

A. Both (A) and (R) are correct and (R)

explains (A).

https://dl.doubtnut.com/l/_TAr31frGAP9G
https://dl.doubtnut.com/l/_aD52yjkLK36l


B. Both (A) and (R) are correct but (R) is not

the correct explanation of (A).

C. (A) is correct but (R) is wrong.

D. (A) is wrong but (R) is correct.

Answer:

View Text Solution

6. Assertion (A):  is more stable than 

. 


Reason (R):  is more stable than 

Mn2 +

Mn4 +

Mn2 + (3d5)

https://dl.doubtnut.com/l/_aD52yjkLK36l
https://dl.doubtnut.com/l/_kYtI2IOC1qCN


 is due to extra stability of half-

filled electronic configuration.

A. Both (A) and (R) are correct and (R)

explains (A).

B. Both (A) and (R) are correct but (R) is not

the correct explanation of (A).

C. (A) is correct but (R) is wrong.

D. (A) is wrong but (R) is correct.

Answer:

View Text Solution

Mn4 + (3d3)

https://dl.doubtnut.com/l/_kYtI2IOC1qCN


7. Assertion (A): Copper is unique in 3d series

having a stable +1 oxidation state. 

Reason (R): Copper is prone to

disproportionate to the +2 and 0 oxidation

states.

A. Both (A) and (R) are correct and (R)

explains (A).

B. Both (A) and (R) are correct but (R) is not

the correct explanation of (A).

https://dl.doubtnut.com/l/_kYtI2IOC1qCN
https://dl.doubtnut.com/l/_QLxBGhVW1ylu


C. (A) is correct but (R) is wrong.

D. (A) is wrong but (R) is correct.

Answer:

View Text Solution

8. Assertion (A): Transition metals form large

number of complexes. 

Reason (R): Transition metals are small and

highly charged and they have vacant low

https://dl.doubtnut.com/l/_QLxBGhVW1ylu
https://dl.doubtnut.com/l/_RVYKJbEccWK0


energy orbitals to accept an electron pair

donated by other groups,

A. Both (A) and (R) are correct and (R)

explains (A).

B. Both (A) and (R) are correct but (R) is not

the correct explanation of (A).

C. (A) is correct but (R) is wrong.

D. (A) is wrong but (R) is correct.

Answer:

View Text Solution

https://dl.doubtnut.com/l/_RVYKJbEccWK0


Additional Questions V Find The Odd One Out

1. Find the odd one out.

A. Sc

B. Titanium

C. Yb and Lu

D. Cr

Answer: C

https://dl.doubtnut.com/l/_RVYKJbEccWK0
https://dl.doubtnut.com/l/_yHfIrfLWYhlM


View Text Solution

2. Find the odd one out.

A. Ru

B. Rh

C. Pd

D. Pt

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_yHfIrfLWYhlM
https://dl.doubtnut.com/l/_b04UHsFz4Is1
https://dl.doubtnut.com/l/_NVtscEEUf0ml


3. Find the odd one out.

A. Th

B. La and Ce

C. Ce

D. Lu

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_NVtscEEUf0ml


4. Find the odd one out.

A. La

B. Pr

C. Am

D. Lu

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_3iegcojgvALy


5. Find the odd one out.

A. Ce

B. Th

C. U

D. Pu

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_QnkavuQZjAsK


6. Find the odd one out.

A. Ac

B. U

C. Pa

D. Np

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_aZY1jnSGcY3u


7. Find the odd one out.

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

Ti2 +

V 2 +

Zn2 +

Cu2 +

https://dl.doubtnut.com/l/_5DefORRvxzxe


8. Find the odd one out.

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

Co3 +

Cr3 +

V 3 +

Ti3 +

https://dl.doubtnut.com/l/_EpkDDBXD2V0B


9. Find the odd one out.

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

Mn3 +

Fe3 +

Cr3 +

Co3 +

https://dl.doubtnut.com/l/_DVbcBOse6fEi


10. Find the odd one out.

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

Sc3 +

Ti4 +

V 5 +

Cu2 +

https://dl.doubtnut.com/l/_kgsHlcm3bnwG


11. Find the odd one out.

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

Cr3 +

Mn4 +

V 2 +

Zn2 +

https://dl.doubtnut.com/l/_cviiTqtTKTXw


Additional Questions Vi Find Out The Correct

Pair

1. Find out the correct pair

A.  and 

B.  and 

C.  and 

D.  and 

Answer: A

View Text Solution

CrO
−
4 Cr2O

2 −
7

MnO
−
4 MnO

2 −
4

H2CrO4 HMnO4

Cr2O3 Mn2O7

https://dl.doubtnut.com/l/_RsoRc8UizXzF


2. Find out the correct pair

A. Zn, Cu

B. Hf, Zr

C. Ag, Au

D. Ti, Cu

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_RsoRc8UizXzF
https://dl.doubtnut.com/l/_4PODD0zVIJtZ


3. Find out the correct pair

A. Ru, Os

B. Mn, Cu

C. Sc, Cu

D. Ni, Co

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_Gk8LcEQvWfza


4. Find out the correct pair

A. 

B. 

C.  and 

D.  and 

Answer: D

View Text Solution

Ti2 + , Co2 +

Cr2 + , Mn3 +

Fe2 + Co3 +

Co3 + Cu2 +

https://dl.doubtnut.com/l/_knVP2xKy6xB1


5. Find out the correct pair

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

Cu2 + , Zn2 +

CO3 + . Cr3 +

T 3 + , V 3 +

Mn3 + , Cr3 +

https://dl.doubtnut.com/l/_h7wJOigk8hh2


Additional Questions Vii Find Out The Incorrect

Pair

1. Find out the incorrect pair

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

Sc3 + , Ti4 +

Ti3 + . Ti2 +

Cr2 + , Mn3 +

Cu+ , Zn2 +

https://dl.doubtnut.com/l/_0leMwJ9zubNx


2. Find out the incorrect pair

A. Sc and Zn

B. Y and Cd

C. Ag and Au

D. Na and K

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_0leMwJ9zubNx
https://dl.doubtnut.com/l/_RYrjy48qrqrS


Additional Questions Viii Two Mark Questions

1. d-block elements are called transition

elements. Justify this statement.

View Text Solution

2. How many series are in d-block elements?

What are they?

View Text Solution

https://dl.doubtnut.com/l/_zWWYZSOTOwqR
https://dl.doubtnut.com/l/_H5Mrede2tmK7
https://dl.doubtnut.com/l/_Vx0VfLVL1uHi


3. Zn, Cd, Hg belong to d-block elements even

though they do not have partially filled d-

orbitals. Give reason.

View Text Solution

4. Applying Aufbau principle, write down the

electronic configuration of Sc (Z = 21) and Zn (Z

= 30).

View Text Solution

https://dl.doubtnut.com/l/_Vx0VfLVL1uHi
https://dl.doubtnut.com/l/_0rzXVmyhtXuV


5. Write a note about atomic radius of Zinc.

View Text Solution

6. Write a not about oxidation state of 3d

series.

View Text Solution

7.  is more stable than . Why?

View Text Solution

Mn2 + Mn4 +

https://dl.doubtnut.com/l/_S6lhe8ckwSp0
https://dl.doubtnut.com/l/_2FYNP9SHF62l
https://dl.doubtnut.com/l/_NEIzJ5cRp7cy


8. Ru and Os have highest oxidation state in

which compounds? Explain with example.

View Text Solution

9. Copper is unique in 3d series. Prove this

statement.

View Text Solution

https://dl.doubtnut.com/l/_NEIzJ5cRp7cy
https://dl.doubtnut.com/l/_swM5Q4j4wV2Z
https://dl.doubtnut.com/l/_EJzc4Awm9iTJ


10. Define - Standard electrode potential.

View Text Solution

11. Which metal is used to reduce  ion?

Why?

View Text Solution

Cr3 +

12.  are diamagnetic. Give

reason.

Sc3 + , Ti4 + , V 5 +

https://dl.doubtnut.com/l/_lkMI3BWZt5Uf
https://dl.doubtnut.com/l/_uMYq0ZvJWR64
https://dl.doubtnut.com/l/_bXLHfVg3Vj9o


View Text Solution

13. Calculate the magnetic moment of 

and .

View Text Solution

Ti3 +

V 4 +

14.  are paramagnetic.

Calculate their magnetic moment values.

View Text Solution

Cr3 + , Mn4 + , V 2 +

https://dl.doubtnut.com/l/_bXLHfVg3Vj9o
https://dl.doubtnut.com/l/_672zzBkdWuaR
https://dl.doubtnut.com/l/_alY48BE7fiDr
https://dl.doubtnut.com/l/_oaK6X1sTJTuM


15.  have high magnetic moment.

Prove it.

View Text Solution

Mn2 + , Fe3 +

16. How many unpaired electrons are present

in ? Calculate their magnetic

moment.

View Text Solution

Co3 + , Fe2 +

https://dl.doubtnut.com/l/_oaK6X1sTJTuM
https://dl.doubtnut.com/l/_z2lDAsnZvSdb


17. Calculate the magnetic moment and the

number of unpaired electrons in .

View Text Solution

Cu2 +

18.  are diamagnetic. Prove it.

View Text Solution

Cu+ , Zn2 +

19. Most of the transition metals act as

catalyst. Justify this statement.

https://dl.doubtnut.com/l/_XC2r0np4ulmh
https://dl.doubtnut.com/l/_WEnBn3ZxdFyo
https://dl.doubtnut.com/l/_QEckEXzowY4T


View Text Solution

20. Explain the catalytic hydrogenation of

alkene to alkane with equation.

View Text Solution

21. Which catalyst is used in the

hydroformylation of olefins? Give equation.

View Text Solution

https://dl.doubtnut.com/l/_QEckEXzowY4T
https://dl.doubtnut.com/l/_UnGSvdrzmmfy
https://dl.doubtnut.com/l/_QjlHxwZYvO2i
https://dl.doubtnut.com/l/_SSJmHnDl5ZiM


22. Which catalyst is used in the conversion of

acetaldehyde to acetic acid? Give equation.

View Text Solution

23. What is Zeigler -Natta catalyst? In which

reaction it is used? Give equation.

View Text Solution

https://dl.doubtnut.com/l/_SSJmHnDl5ZiM
https://dl.doubtnut.com/l/_ubpIv5f85Df3


24. d-block elements readily form complexes.

Give reason.

View Text Solution

25. Prove that acidified potassium dichromate

is a powerful oxidising agent.

View Text Solution

https://dl.doubtnut.com/l/_AqDTJLCdU1yR
https://dl.doubtnut.com/l/_5etXeFw4QM4Z


26. What are the uses of potassium

dichromate?

View Text Solution

27. Draw and explain about the structure of

permanganate ion.

View Text Solution

https://dl.doubtnut.com/l/_c5KUw8ro4Ygr
https://dl.doubtnut.com/l/_M7mRJkwRdjwx


28. Explain the action of heat on potassium

permanganate.

View Text Solution

29. Prove that Potassium permanganate is an

oxidising agent in neutral medium.

View Text Solution

https://dl.doubtnut.com/l/_PKr66phvbMfB
https://dl.doubtnut.com/l/_A4VkqHGPEMvx


30. What happens when thiosulphate ion is

treated with permanganate ion?

View Text Solution

31. What is Baeyer's reagent? Where it is used?

View Text Solution

32. Acidified  is a very strong oxidising

agent. Prove it.

KMnO4

https://dl.doubtnut.com/l/_VfzdykPFkavE
https://dl.doubtnut.com/l/_BcEDgB9JuWw3
https://dl.doubtnut.com/l/_UFtdysoOpYcm


View Text Solution

33.  does not act as oxidising agent in

the presence of HCI. Why?

View Text Solution

KMnO4

34. HNO, cannot be used as an acid medium

along with  Why?

View Text Solution

KMnO4

https://dl.doubtnut.com/l/_UFtdysoOpYcm
https://dl.doubtnut.com/l/_1B7W1OqUSMgv
https://dl.doubtnut.com/l/_5hpCaos8ZwQH
https://dl.doubtnut.com/l/_qrkNpcRuVbbv


Additional Questions Ix 3 Mark Questions

35. Among HCI,  and  which is

the suitable medium for  in oxidising

reaction?

View Text Solution

HNO3 H2SO4

KMnO4

36. Explain about the causes of lanthanide

contraction.

View Text Solution

https://dl.doubtnut.com/l/_qrkNpcRuVbbv
https://dl.doubtnut.com/l/_sWAUEb4dc0I9


1. Cr and Cu are more stable. Give reason.

View Text Solution

2. Explain about the metallic behaviour of d-

block elements.

View Text Solution

3. Explain about the variation of melting point

among the transition metal series.

https://dl.doubtnut.com/l/_5RxR2ABfHoxM
https://dl.doubtnut.com/l/_cKwTHZRhGyIe
https://dl.doubtnut.com/l/_ZebOT3CH1l3C


View Text Solution

4. Explain about the variation of atomic radius

along a period of 3d series.

View Text Solution

5. Ni (II) compounds are more stable than Pt

(II) compounds. Give reason.

View Text Solution

https://dl.doubtnut.com/l/_ZebOT3CH1l3C
https://dl.doubtnut.com/l/_nrJeMRlKAyqg
https://dl.doubtnut.com/l/_xgKSk2jmsu7D
https://dl.doubtnut.com/l/_k3OogivPlXYD


6. Compare the reduction potentials of

 and .

View Text Solution

Mn3 + /Mn2 + Fe3 + /Fe2 +

7. How alloys are formed in d-block elements?

View Text Solution

8. What are interstitial compounds? Give their

properties.

https://dl.doubtnut.com/l/_k3OogivPlXYD
https://dl.doubtnut.com/l/_2WkmvGvXmvLS
https://dl.doubtnut.com/l/_yh7oKljxkDQK


View Text Solution

9. Explain the action of heat on potassium

dichromate.

View Text Solution

10. Draw and explain about the structure of

chromate and dichromate ion.

View Text Solution

https://dl.doubtnut.com/l/_yh7oKljxkDQK
https://dl.doubtnut.com/l/_oKdUA1yNm43x
https://dl.doubtnut.com/l/_kstrAIggG5Xq
https://dl.doubtnut.com/l/_tSkFgKqrGgPj


11. Explain the action of acidified  with

(i) Iodide (ii) Sulphide

View Text Solution

K2C2O7

12. Explain the action of acidified  with

(i) Sulphur dioxide (ii) Alcohols.

View Text Solution

K2C2O7

13. Explain about chromyl chloride test.

View Text Solution

https://dl.doubtnut.com/l/_tSkFgKqrGgPj
https://dl.doubtnut.com/l/_Azv5gInGSZNL
https://dl.doubtnut.com/l/_rnwKEZ6Y0ibn


14. Explain the action of Conc.  on

potassium permanganate.

View Text Solution

H2SO4

15. What are the uses of Potassium

permanganate?

View Text Solution

https://dl.doubtnut.com/l/_rnwKEZ6Y0ibn
https://dl.doubtnut.com/l/_GL37sXhVQYhj
https://dl.doubtnut.com/l/_xsqDhPOdcIsR


16. Calculate the equivalent weight of 

in (i) Acidic medium (in) Basic medium (iii)

Neutral medium

View Text Solution

KMnO4

17. Explain about the oxidation state of

actinoids.

View Text Solution

https://dl.doubtnut.com/l/_pv931xLMZVlm
https://dl.doubtnut.com/l/_euHi0h0h5JLJ


Additional Questions X 5 Mark Questions

18. Write the electronic configuration of (i) AC

(Z = 89) (ii) Am (Z = 95) (iii) Lr (Z = 103)

View Text Solution

1. Explain about the magnetic properties of

transition elements,

View Text Solution

https://dl.doubtnut.com/l/_JfLYdKO4ezK1
https://dl.doubtnut.com/l/_6WmNCxKgvp29
https://dl.doubtnut.com/l/_9GfSdkF4tcIf


2. How will you prepare potassium

permanganate from pyrolusite ore?

View Text Solution

3. Explain acidified KMnO is a powerful

oxidising agent with 5 examples.

View Text Solution

https://dl.doubtnut.com/l/_9GfSdkF4tcIf
https://dl.doubtnut.com/l/_nzVj1wCamFxI


4. Explain about the oxidation state of

Lanthanoids.

View Text Solution

https://dl.doubtnut.com/l/_hjic6DZPEaRA

